NAA

ynp.Ne7, 7 man 2020r.

\4 @@60) \/@T@d ’



...0OT MUHAJTNA TTbT

CT@) = e T — 1) +1 = e T2+ DA
= Y TI-2) e A = Y 4
—w L\’“ A)L""‘Zj_rzh—b> 4 V‘L\/\- A) +n~=1 =
=l ) SR () LN CER S TR e -2 + VAl Dt A

. ‘“‘l‘“‘“~--”°5-m’\3+ nbhed). 2B enbhae ) e "'\m\v\—'n""r\"‘/l
*T(n) =T(n—2) +2+Ign \ . Wl wl Wl W
:\/\TLA\\——-F —_ t—— —_— 4 — 4+ ——=
2! \b‘ )'(‘ -\("\‘—2)\_ (\1—-’1)_\ V\\

(/WA T4 b)) W =0 ®1) 4l ‘Z AT <) M)+ Con
W= WA > ) i “‘L:Z'\i : 3
:—’O L& %Z_C;\TL Qo/\gi/ 2\,\\(,9“)35 os‘ﬁ.cxum.c\‘. QO(V\,B






\L\n\) 7L_(LV‘ 0)*4 T c.)+ -'-é ?[W>+@ AR
c::w:'t

C"“ﬁt Co'w:t Yoo
V\ _?2)

/\\ é/‘ péZ) o \jw\,.u_o&kb\ (i ;\.\2 ﬁm—h;ﬁm

V\—,A )\:-044— XV\'CL-L____
>< A AZ A \(\_ _\_Q\’-\[h_‘_,(B wmko <

4’2 -+ V\.Q. -

—Y(v\\ —_TL\A k\ Q\Tkvx-z.j &i& . 'C; O mocoare .
x S —v()\x - uaﬂoa\m)v_omsﬁ'oe Olej(?)*—ﬂ
NS} o
= 2-O + 9 (m 1) « 5[ @4/\@\4/\\4 g x
@:{A-\ %)’—i') 3_ \\)7‘%,_,\ o %2)2,75 35‘53 7313 32\ EA kz‘) ?\.\75

o ‘;2?1'\ \,le,v_o\ OO T . wuabl slk Z: 2-}'_5%
2 \,\i% ‘1 V\‘l‘E.é

= 2= = AT -wb;z o
= Oz



© © NG W

p—
)

Th)=T(h—1)+1
T(n) = T(n — 2) +Qn
T(nh) =2T(n—1) + 2"

T(h) =T(h—1)+T(h —2) 2~ _ o :@)§>
T(n) =2T(n—1) = T(n—2) _.»> (3 7o, > ?'232’12}@2; Ci’r;)
T(n) = 4T(n — 2) + 3" /))\7 $3% /ﬂ"‘\ Ao@) ety

T(nh) =3T(n—1) —2T(n—2) + n2n = x “2 49 (D

T(n) = YLTO) + A - 22,275 223028 = 24y 2 S 25

= T0)=4.( B2 4l w2 *%v‘
T(n) = Y2 T() + 32 1[n) = ‘ivwz N( R
:mﬂ=2TQ)+1 Tl = A 2

V\/ V‘\ ,2—[("‘ A)* 2
1 ) S )2 2 2 L2 gzg
ST Sk b = o 2)









N (\,\3—_ RICIE . 1(D= JT(2)L

L. ()= NGT(E )+ " 5 T~)= 2T J:_> *6"‘
5> Tlad= ZT(E)+ 0 b Aot
Y. (5*%’T/~)+h oZ‘mV\Y\C/ m)v\

5. T~ - \S‘(-)’\-h ~Wamisdoa _(_:E'C O W LQ(VQ

G . T(h) bT >+V\{~3 g ng(o)'i\e/ @&Fw}"- 2-¢>{
= ’r("‘\ = &T( 1> e h‘qﬁx\i ()

o TTla)= 21(2)4 oM S vo lo wa UT

3. 7T ) = ZT(2 )+ dgn T~ e

1o T(n) = 2T Wan
M ’T("‘) SVLZ A\ @3



=S, ,g(m\: V\\L => L[V\\)\/\V\ugh S0 —2;!: O C%oéu \nk c—(lﬂ}tQ\"
= o H A, A MT 7("‘) X \F\ &\V\ o, YerO Wy

- w & N A
o BVIQQ LC)"k %73) ; ){V\ZV\)O b 5y (ﬁ? L gh
Mg 0 o o1 e kT
R = 30.0’ EY\ W ZXAC.V\'% YXe) A Ma
= = 2 Lo G =7 C
SHRT gy



